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A 1own is different for he acquires it on account of Prxs 529

OVERVIEW

X297 explained the reason Nunwn NUY° AW PR OWHT ¥ 90 is because the mvn
acquires the Town, as °"1 taught. The ruling of "7 is (mainly) regarding the
responsibility of the mn for the Nown, if the 1own was lost or stolen the M%7 is
liable for it (it reduces or nullifies the debt). There are two types of M112wn, one is
X197 NP3 oW, the M requested the Nown as collateral at the time of the loan,'
but he had no intention of keeping the 115wn as payment.” There is also XoW 115wn
INRI27 nyw3a, that when the debt was due and the m% did not pay, the m%n then
collected a own which he may use as a payment for his loan.’

nvoIn asks:
— NN nyva "N PNYY 297 N 99NN ON)

And if you will say, but 5"1 is discussing a ¥R nywa X 110WH -
— (%1 maw) PINTN P9 3NDYWAY (3,30 xwwyn xa1) DIINDINND 1999NT

As the X771 states in 2°12I8:7 292 and in the end of 3°153777 P9 -
—INNIDN NYWA YNIWNT NP PIYNN DY MYNN NI

But here the xn>12 states Pownn ®» m»nm which indicates that the 10wn was

taken YINY®7 nywa -
— 915 PAWND 9Y 1NN TR SR 8D ‘NN 139987

As the X n) states there, ‘but here and there it states Pown7 ¥ ¥M97°, which
indicates that it was X127 nywa —

mdoIN rejects a possible solution:

" If indeed the 7% will not pay the loan, the 77 will bring this 119w to 7"2 and 7"*2 will assess its value and give
the m%n the value of his loan.
% This type of 119wn is not considered as being acquired by the m¥», since he has no intention of keeping it.
? This type of 119w can be considered as being acquired by the m%n, since he intends to keep it if the 7> will not pay
within a specified time. This 12w is already assessed by 7"2 that the 7% can keep it.
* The w1 where it states (3,75 [X¥n] 0°127) APTE AN 79, discusses a case where a mv» was not paid and is taking
a 11own from the M2 after the X127 (which he will use as payment, if the loan is not repaid [within thirty days]).
> Only then is the 71p 797 the 11own and AnINR2 20, however A2 Nywa the 7"va is not 7P the 115wn, and he is
not 211 if it is lost or stolen.
6 2,80 (70) »"2. The Xm) was saying that we cannot say that the miwn which says "W V2w 1Ow»T v 1M1 is
discussing 1R177 nywa ®5w and the Xn»12 where X" exempts the 71 from paying is discussing X127 nywa; we
cannot make this distinction because in both places it states 19wni 9y 111277 (meaning 7XY?7 NYW3).
" In our texts the XN™2 states TOW»A Y Mo see continuation of Mo, See 'l
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— %ym5nY MYNN 12 PYNY X2 PN
And it is not logical to distinguish between 15w»71 5y m9nm (which may mean
TR DYW32 X5W) and 1OWwRR HY 319 (which means X197 nywa).

mooIn argues that even if we assume that 10w %Y M%7 means WNX? w2 KW, nevertheless
there is still a difficulty:
— (N1 Mmawv) 12329 P92 (3,01 97 xysn xa3) AN P91 TIVY

And furthermore from the N7 in 27357 299 and in 91977 P99 -
— NADD NUN NIV 1IN PIUND Y M5 223 VPWN INN INNIT NYYA I1TANT 3133 ¥IYN

It also seems that even nR®;7 nywa 110wn is not wawn., This is regarding a case

where one was Towni 9 7792 and the 110wn was only worth half of the loan -
— 1AUNA IV N1 WITD DNRVUM 1IRT INIYNI 12 PYNY 139 NPT

Where 3'"2w9 ruled that n°y2w is not w»w»; meaning it is not vAw» the loan

which is equal to the value of the 1own -
—NYYa 0927 119919 NIN 199 9N K97 DIVN VHRYNAT 920 NOWIN AN 529

And X237 ' maintains that it is v»wn», because he seized the 11Ow» only that

the MY should merely remember that he owes a loan. This concludes the citation -
— NIANY DYDY JOWNT INN INNNTN NYWA ROWT INRNDN NYWA PIYNIA TN DY 1391

And this means perforce that the X713 there was discussing a RY?77 nywsa oW,
for if it was a WNWI nywa XSw NOwn, whatever the mo» took it was for

collection,10 not for a X»%y2 0°127 P07 as *"1 stated -
— VNPYN 1IN ANITAN X PNaYNN NIV NN BN 297 192AN)

And nevertheless (even though it is a X237 nywa Nown) if the Nown would be

worth the amount of the loan it would not be w»wn. This proves that we maintain
that even a 1RY277 nYW2a NoWn is not vAWH; the question remains, but *" was only discussing a
R NYWA KW Nown.

In summation: The rule of > that Nown AP 1"v2 is only by INRI?T NYwa KW 11OwWn, but not by
NRIZ7 NV 110wn, nevertheless it appears that 115wnn 5Y M1 even NI NYWA is not vrwnH; how
can X2 say the reason is because of >"1.

MooIN answers:
—INNRNTN NYWA ROV PNYY 529999 115D 9PT INNN ©7/WNY 19 9ANUNT 9990 U

And one can say; that it appears logical to the X223, that since nywa Nbw

8 If we would make this distinction then there would be no difficulty, for in our mwn it states 11own v M7n and it
could mean X127 nyw3 85w, However mooin disregards this suggestion.
? It could not have been a ‘serious’ 179w» since it was only worth half of the loan.
' The reason he took only half is because that is all that there was available.
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R the mY» acquires the 1own (in the sense that he is liable for it) on

account of the ruling of >''9, therefore -
— M PAR HY KXY 153 195997 DRYN NYT INITN NYYA DYNHAMY 593 BYN

The lien which the mY» has on this 1own even aR™7 npyws is also sufficiently
powerful that it is not w»w» for we can apply to it the ruling of 7793 7oK H& K>

mooIn finds a corollary to this concept:
— PNYS 2297 11T (3,55 Dno) NYY DI P93 YIDY P9 1)

And similarly it is necessary to explain the X3 in 7yw %> P95 in the same

manner, where the X723 cited >''9, this is -
—INNNTN NYWA 1PN AW DIINT DN Yy 059919 7299 MY INIYS 1)

Regarding a »X"2 who lent money to a gentile for his y»n (as security), we
need to say that the 712p" the X" has on this y»n which he took as a 19wn even

NRNDT NYW3 is strong enough -
— 99135 23 ARNTN NYWA RHY HINID ANTS T332 MY 1OV 9PN

That this ynn is called 79w (it is yours) that the YXw° transgresses the
prohibition of 787> %2, since if he took this 7XN?7 nywa X5w yin the PXw° would

acquire it completely -
— Pnx9’ Y23 155y 29901 MPINR 1YY YaPN DN D391 Y1290 NP YaPN 1999NT

For if even one accepts a deposit of y»r1 from a 2'"15p, the rule is that if the Hxw»
accepted upon himself responsibility, he is liable for 182> ®2 on this y»n -

NvOIN continues in the reverse:
— ¥yg90 5y HINIWIY 1YY BY2999 T2

' Just like a X127 NYW2 X9W POwn is considered as belonging to the mn, even though it does not yet belong to the
9, for the MY can still pay back the loan and redeem this 11own, nevertheless since eventually it is possible/likely
that the m%n will receive it, therefore we consider it his as of now. Similarly by a X177 nywa 1own, even though the
21 does not expect to take it as payment, nevertheless since there is the possibility that the m> will not pay, and the
o will take it as payment, therefore it is considered as if the 7791 has a certain ‘right’ in it. See »"m.
"2 The ruling is that the 9Xw" is 72 on X 72,
3 Then certainly if one receives the Y11 as a 110wn it is considered more ‘his’ than merely holding a n1nxa NP5 for
an 0"5Y. A 1own (even X127 NYWwa) belongs more to the MY than a NP belongs to the MW (even with N1»nx). The
11775 must be returned to the owner; there is no way how it can belong to the “m1w. However regarding a 112wn (even
X207 nywa), the M can withhold it until paid and it can belong to the mon eventually if the Mm% does not pay.
[Alternately mooin is proving that we cannot say the reason that the 787w (who lent the %0 5v 2"ov) is 21 for "2
is because he was N1"™nx 72pn, for then there is no need for ¥nn v M2 even by a regular 117p9 he is *"22 721, ]
' The rule is that the YXw* is 921y on 7% 23, because there is no concept of 12wn 7P n1"va regarding an 2™ay.
However, as o010 continues, if the rule would have been that an 0"y is 199wn 717 then the %W would not be
72w on 1X7* 22. The question that MaoIN may be addressing is why do we say that the X" is 12 on "2 because
there is no 2"2vY7 1P, even if there was a 2"12v% 1°3p, the PXw° should still be >"2 72w since it is IR?7 NYW2 120WA
3
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And regarding a gentile who lent money to a »X2w> for his 721 as a security -
— ANNYN NYWA 19U 1959 CHNIYS 29910 KY INIYWIM D395 T2y 53D M1 ON

If the ruling would be that an 2'12y is 7297 a own from a »Rwo, the Y82 would

not be 21 for 787 92 even if the 2"V took the R nywa WA -
— “bmw’ 192 981 YN RYT NIMHAYIY OIINT DIVN

Because since the 72y of the 2"5¥ on the y»nn is strong, it is not considered
that the y»n is ‘accessible’ in the possession of the ®X=w» —

moon explains from where we derive this requirement of "% for X7 52:
— 1193 15 9195 Y0IPNAY 1192 N¥NY I XYM XY 19U T1

For we interpret the P05 of X3%° X% to mean something which is found in his
hand, to exclude the case of nva ¥ 7™

— Pin9m DINDDT XD 9993 199981 TNanx 1Yy Hasm 1rax
Even if the "X accepted upon himself the responsibility, as n1o01n states in
the first p=o of 2°'mo2 noon —

In summation; since INXY? NYW ROW 1wn the MY acquires the Nown with a M3 PIp (to be
liable for 7°2X1 72°13), therefore even if X177 NYW2 1OWn it is still 1M2y°w 098 regarding N>y aw
that it is not vnwn and regarding y»i that he is 92w on X7 2.

MooIN mentions a case where we do not say 1723w °%X by IRI1?7 NYW1A 11OWH:
— Znunpnt 059NN PNIUNI NYTD 33 (1,0 91 PYITDT NP P93 17510)

However in the first pap of PwYTSP ndon regarding the case where a man was
wTPn a woman with a 19w, which the man held for a loan he made to another,
the rule is that she is nwTIPn -

where no one is 199wWn 7P, MO0 answers that if the 2"y would be 797 Nywa XHw 1y then the YR W would be
TS even AR NYYA.
'3 [It is possible that Mmoo mentions this case of Y W% mM>w 0™ay, because in the previous case of M>Aw YXIW*
0"oy7, we only see that 1712v"w 2°9R of X127 NYWA goes R that the PRW” is 787 92 12w (perhaps only 112777),
however by munw we say 1129w 0°2X even X71p7 that it is not vPwn, therefore NdOIN shows that by ynn also it would
have been possible to say 17120°w %% even X7177.]
'® The X" has no ‘access’ to this 21 (even though legally it is his), since the 2"y is holding it for a wn.
70,20 (82) Nw.
'8 The case there is where the 131 deposited his yr by a »x7w; if the 8w designated a place (n*2) for the ynn, the
5% is not obligated to get rid of this ynrm.
' We see that even if the 9872 accepted n1nX he is not *"2 72w if N2 12 717, because it is not accessible to him (he
was N"1 17 Tn»); if the 0"oY has the ynn of a "X W in his possession as a 119w, it is certainly not accessible to the
R,
%0 See mpoIn there T 7"7. If however the YX %> was not 121> 71 and he accepted M nx he would be 723 on *"2 as
mentioned previously in this m»on (footnote # 13).
' It is worth money to her, for now she can withhold this 119w» until the loan is paid to her. See “Thinking it over’.
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— YT INRNTD NYWA XYY 1)9WNA NPYTT UMY 7598 PNYY 229793 351913)
And the X723 cites >''1 (that 110wn 7P 1''v2), there it is necessary to say that she

is nwTIP% only where it was NR197 nywa X uswn -
— PONINI 2NNNY PNNS 5297 2319 NIT YNWUN (x,20 nwwsn xa2) PININD 79927

For in PR 299 it seems from the X722 that the ruling of 39 (that 7P n"va

15wn) is not sufficient that the 11"va should be liable for o -
— 2595935 9505 W NY NAYN 99Y 119 KIN 2PUN N9

And the 1"v2 is only considered like a paid watchman (and he is 217 only for

772X 72°1)), it is evident that the 110wn is not considered as if it is totally his -
— 92V 99V 2UN) DYL NIINN )19 ON

If so (that it is not 1237 15W), for what reason is he considered a " -
— 199N IN MYPIPY DYUNRN NN 12 MNIPY 79Y %P7 13N DIVN XY ON

If not for the fact that he derives a benefit from the 1own, that he acquired it to
buy with the 115wn either a woman or properties or he can use it for 19571 -

PAYNA NN 12 YWTDY 9199 19N INRNYD NYYWA )9 ON)
And if indeed this is so, then he cannot be wTpP» an 7WNX with a nywa NOw»
NIRRT

SUMMARY

Since IMRI27 NYW2A XYW 1OwWH a1p 1"y with a M na 1Ip to be liable for 792K 72013,
therefore even X177 Nywa it is considered sufficiently 122 to be vawn by nyvaw
and to be 2»n for *"a by 1¥n1 2y 0"5Y2 M. However by Pw17p she is nwmpn only
if it was RN NYWa XOW 110wn.

THINKING IT OVER

Seemingly the reason why nwmpn (2°70X7) 12Wn2 wIPnT 1s because he is giving her
something of value (that she can use this 19wn to collect from the m9)**. What
difference is there whether it is X127 NYW32 or IR NYWA XYW, it either case the

7own has a value for the woman, for she will collect the loan through it?1%

22 1f it would be 3% 9w he would be 27 for 101X (just as the owner suffers the loss [even] when it is lost 011X2).
2 1f he could be wTpn an WX with a XM NYWa Own (where he is not considered a w"w and 7wo from 72°1
77°2RY), then what extra benefit does he have W77 nywa X5w that on account of it you consider him to be a w"w and
A7°2R) 72°132 2711
* See footnote # 21.
2 See Nown "7 2,0 YT R Moo, that she is NWYTPA even if it was INRNYA NYW1R 1WA,
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